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\ ) 50cm 0.09 0.08 0.10 0.09 0.11 0.11
87 JIURAF ZELE MhHI >EREE 9A85H
1m 0.09 0.08 0.09 0.08 0.10 0.10
‘ 50cm 0.10 0.11 0.11 0.11 0.07 0.08
88 JIAFE INFERR JIRF LR NERR 9A5H
1m 0.10 0.11 0.10 0.11 0.07 0.08
50cm 0.09 0.08 0.09 0.09 0.10 0.10
89 | JIINF AR I RAT ST R ks 9H85H
1m 0.10 0.08 0.09 0.08 0.10 0.09
) 50cm 0.06 0.06 0.06 0.06 0.06 0.07
90 | LvbhETh REE EZEREM 9A5H
1m 0.05 0.06 0.05 0.06 0.06 0.06
) 50cm 0.06 0.06 0.05 0.06 0.06 0.07
91 WhETH REEH EARBEM 9A5H
1m 0.06 0.06 0.06 0.06 0.06 0.07
. 50cm 0.08 0.07 0.06 0.06 0.07 0.07
92 | LvbhEm REE HEREFT 9A5H
1m 0.07 0.07 0.06 0.06 0.08 0.07
P . 50cm 0.08 0.06 0.07 0.06 0.08 0.09
93 L"b%?ﬁ 1%:% lla\;blfl'ga);l‘E&JL (**) $¢'9&‘t’/ Qﬁ 5 E
ZF. 1m 0.07 0.06 0.06 0.07 0.09 0.08
50cm 0.07 0.08 0.06 0.07 0.07 0.07
94 | LvhETh REEH [TLFELRBE 9H5H
1m 0.07 0.06 0.06 0.06 0.07 0.07
. 50cm 0.06 0.05 0.06 E12EERELT: BIEHELADLZ
95 | LvhETH REEH LAEREE 9A5H BERIC XY IR =
1m 0.06 0.05 0.05 [ RE-EESE] /DMLYt anEHIE
N . 50cm 0.07 0.07 0.08 0.07 0.07 0.08
96 | LvbhETh INEAR WhEMILRIL/NER 9HA5H
1m 0.08 0.07 0.07 0.07 0.07 0.08
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EEERENRSHBEE=F)JRAECEREE 130 HER

(SFTEQASHAE D ESR)
SFTE1081H
[RF N KERH 5 RARE (RETHRIT)
EEREKENERE(RFHY)
A Ze R 48 2 % I fE( 1 Sv/h)
- KE-EESE
[ H X
No. | HETH X4 245 2 2 F jg’!éf 50cm LEF] &0 (chsk - AJE QD F 1918) e
10; 5[ %£12MH <] %120 5[ %12E
paire | maee | neke | sake | pake | Baes
i i 50cm 0.05 0.07 0.08 0.08 0.08 0.10
97 LWbhETH INERR WhEMILE D /NER 9A5H
im 0.07 0.07 0.08 0.08 0.08 0.09
N N 50cm 0.08 0.08 0.07 0.06 0.09 0.08
98 | LvbhEm INFERR LN ETh AL/ DA 9A5H
im 0.08 0.07 0.08 0.07 0.08 0.08
50cm 0.06 0.07 0.08 0.09 0.08 0.10|; Fpq 1[ SEEO Il 445 BIEEZ ] Noi0lLrbo
99 | LhETh INSEH RYSELEFN- 25 9A5H g | 3 ks L ]
8 7 8 im 0.05 0.07 0.07 0.08 0.08 0.09|FRFFH. N 102LVhEFRER L}
N . 500m 0.07 0.07 0.08 0.08 0.08 0.09
100 | LvbhET =a)os SR WhETHiLR PR 9A5H
im 0.07 0.07 0.08 0.08 0.07 0.08
50cm 0.06 0.07 0.08 0.09 0.08 0.10\ Fpq 1[ SO I K- EEEZE ] NoOL bk
101 | LvbhEm el o WhEFEDER 9A5H g ) 3 ks L ]
8 7 8 im 0.05 0.07 0.07 0.08 0.08 0.09|F RN o102V hEFREBR LA
500m 0.06 0.07 0.08 0.09 0.08 0.10(; Frq 1L S0 T K EE-EEZ ] ool
102 | LWhETh Bk WhEFESR 9A5H S lEar ) 3 g
= e Im 0.05 0.07 0.07 0.08 0.08 0.09|FFENF NIOTNDEF R PLBREIA
o o N 50cm 0.06 0.07 0.08 0.08 0.09 0.09
103 | LvbhETH = HFEK EEREHE—SB 9A5H
im 0.07 0.07 0.09 0.08 0.09 0.09

X TFE12EFAXFERIEIE. FHI0ESAI0AMNST11ASHIZEML-IEERBREMSBE=AJJHE (EREE120) JICBT2RAEHKR., TOMICDOVNTIE., FERIZESEH T 5,
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